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7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8.  Each question has five options marked as 1, 2, 3, 4, 5. You
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(3) YaveR, Wiefl, TS, AR 3R
T |

(4) TRER, WS, TE0TE, AT 3R
FHARH |

(5) Irgeid FeA

JRig I feaw 2025 i ofim @
(1) b JoAft, woh e o ferg am
(2) = 3R gu & forw I

(3) TgAT Fguhy o forg A

(4) Tigesdt < ferg am

(5) ST ST

WA 18T & FB ‘7.0 1. feee’
1 WA (IMDEX) wRmn
2025 ¥ forg <=1 8 Wt fomam 2

(1) Rmge '

(2) <o it

(3) U=

(4) &

(5) TG A

(2) 3R
(4) SRR

S e

4.

Keeping in view the importance of
minerals in Rajasthan, at which
place is it announced to establish the
Institute of Mines in the Budget
2025-26 of Rajasthan ?

(1) Ajmer (2) Udaipur
(3) Jodhpur (4) Bikaner
(5) Question not attempted

The Union Cabinet, chaired by the
Prime Minister, on May 7, 2025 has
approved the setting up of National
Centres of Excellence for Skilling at :

(1) Bhubaneshwar, Chennai,
Hyderabad, Kanpur and
Ludhiana.

(2) Prayagraj, Alwar, Kanpur,
Bhubaneshwar and Chennai.

(3) Bhubaneshwar, Bareilly,
Lucknow, Jodhpur and Patna.

(4) Gorakhpur, Bhopal, Chandigarh,
Prayagraj and Kanpur.

(5) Question not attempted

The theme of International Yoga Day
2025 is ‘

(1) Yoga for One Earth, One Health
(2) Yoga for Self and Society

(3) Yoga for Vasudhaiva Kutumbakam
(4) Yoga for Wellness

(5) Question not attempted

Indian Naval Ship INS Kiltan
participated in IMDEX Asia 2025 in
which country ?

(1) Singapore

(2) South Korea

(3) Japan

(4) Russia

(5) Question not attempted
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‘Wi Fa feg@ 2025 wuRle # sfRma
guft ¥ SEenfa §gw &’ A
FNfAf” %1 RSA X AhE T F
SIS § IHEAT 7g TG HH & forg frat
et IpEdr [EHR-2025 feam mn ¢
(1) st spm <tad

(2) gt = HaerRE

(3) . oite Fur fiig

(4) *ft rfe $AR SfET™
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feuefia fr-Qar ame gemEar 3 3

Tgd (HADR) 319 TR 276 2025

¥ o frafefaa ol ® e st 3k

et ferspea 94

FYTA : I8 TFR TRATE I 531 TR
o |

%Y B : 98 IPEm wra 3R Sum 6
e FIeA & o9 93 I
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T §HAT % S~ &R HI
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(1) FHAIRBTATAE |

(2) FTABITATAR |

(3) FTAFHB IR |

(4) $UT A R B gHI 3EA ¢ |

©) sase |

39ﬁnﬁa'mqﬁmm§m!7.

AR (S f anfeen o Qeft 715 oft) &
TSI = SH |1 IS /T Sfiar ?

(1) i veh

(2) @ UEsH |
(3) HrUSH
(4) SrTwE
(5) IrFaRa A

Who was awarded in the individual
category with Chief Minister's
Excellence Award-2025 at the ‘Lok
Seva Diwas 2025 Ceremony’ for
inspiring excellence in the skill of
sport ‘lacrosse’ (lacrosse stick) by
organizing “Lakshya Olympics” in
tribal dominated areas ?

"~ (1) Mrs. Shubham Chaudhary

(2) Ms. Pragya Kewalramani
(3) Dr. Dheeraj Kumar Singh
(4) Mr. Anil Kumar Beniwal
(5) Question not attempted

Consider following statements for

bilateral tri-service Humanitarian

Assistance and Disaster Relief

(HADR) exercise Tiger Triumph

2025 and choose the correct option :

Statement A : It was 5" edition of
Tiger Triumph.

Statement B The operation

- reflected the enhanced degree

of combined combat drills,
jointmanship and Interoperability
achieved between the Armed
Forces of India and Japan.

(1) Both statements A and B are
true.

(2) Only statement A is true.

(3) Only statement B is true.

(4) Both statements A and B are
false.

(5) Question not attempted

In the 39" Sub-Junior Boys National
Handball Competition (which was
played in Odisha), what medal /
position did Rajasthan won ?

(1) Gold Medal

(2) Silver Medal

(3) Bronze Medal

(4) Fourth Position

(5) Question not attempted
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(3) . YuwE SEn
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10.

As per the Budget of 2025-26 of
Rajasthan, which of the following
statement/s is/are correct in respect
of provisions made under the head
Planned Development and Civil
Amenities ?

(A) Works of ¥ 550 crore under
Panch Gorav Yojana.

(B) Allotment of ¥ 12,050 crore for
Pandit Deendayal Upadhyay
Urban Development Scheme.

Use the code and give -correct

answer.

(1) Only (A)

(2) Only (B)

(3) Both (A) & (B)

(4) Neither (A) nor (B)

(5) Question not attempted

Who represented Rajasthan state in
the ‘National Ayush Mission
Conclave 2025’ held at Lonavala in
May 2025 ?

(1) Sudhanshu Pant

(2) Bhajan Lal Sharma

(3) Dr. Prem Chand Bairwa
(4) Diya Kumari

(5) Question not attempted

Name the fish in which well
developed, tough and strong
pharyngeal teeth are present with
pharyngeal teeth formula 2, 5/4, 2.

(1) Silver carp
(2) Common carp
(3) Grass carp
(4) Tilapia
(5) Question not attempted
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i gt & TurgEl 61 S B @
(1) 2T =54
(2) 2% =118
(3) 2w =100
(4) 2w =50
(5) ST e

Fr= wesfort @ @ i ©ft woeht # wvd W@
% =, 5-6 goreh! Tl TH wised B
(caudal fin) & YR & FUL 9T & §

et e SufRrd B 8 ?

(1) T~ Frelcrgd

(2) 37FY9IF e

(3) =T yHeT

(4) 7IeI<E farer

(5) TG T

ot asfort & Smfves T i T T
Y gafera i ;

A. T 3reg (i) s
B. faweg 3w (ii) =t
C. 7iere Fierdw (i) waren
D. g7 &r3eq (iv) foer
(1) A-(ii) B-(iv) C-(iii) D-(i)
(2) A-(i) B-(ii) C-(iv) D-(iii)
(3) A-(iii) B-(iv) C-(i) D-(ii)
(4) A-(iv) B-(iiiy C-(ii) D-(i)

(5) AR I3

o i——— T——— ——— T — - A, S S LM, TS A T

1.

12.

13.

Number of chromosomes in Tor

Khudree are :

(1) 2n=54

(2) 2n=118

(3) 2n =100

(4) 2n=50

(5) Question not attempted

Which of the following fish have 5-6
fainted bands below the lateral line
and a large black ocellus at upper
end of base of caudal fin ?

(1) Channa marulius
(2) Ompak pabda
(3) Channa punctatus
(4) Notopterus chitala

(5) Question not attempted

Match the following scientific name
of fishes with their local name :

A. Wallago attu (i) Kabra
B. Mystus aor (ii) Lanchi
C. Noiopterus (iii) Patola
notopterus
‘D. Channa striatus (iv) Pitar
(1) A-(ii) B-(iv) C-(ii) D-(i)
(2) A-(i) B-(ii) C-(iv) D-(iii)
(3) A-(iii) B-(iv) C-(i) D-(ii)
(4) A-(iv) B-(iii) C-(ii) D-(i)

(5) Question not attempted
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Arlsfeam Usmalt & Igm & g
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gidl <t HEAT B B

(1) 14-16 38R 3R 11-14 el

(2) 11-14 gt 37k 8-10 rud™

(3) 10-12 g 37 5-6 7=

(4) 8-12 g7 31k 5-6 rud™

(5) guia ¥

HeTas TSell & AL B

(1) urveia wpfa a0 IR, T % m
% &3 U T Bl 9 Ig YEY uE
TS U o e T |

(2) srelim apfed TeU SRR, Foe & I8
% &5 A T @ 9 Yool g 6
TS T DI T o |

(3) wreelia Hepfera IR, o T & T
% we e Wea e Hg |

(4) Irulia wgpied W, SR W 9 T
%7 wa wreie afga v Bler 4z |

(5) rguRd w¥

woet woREl B ggwm § e | 16.

forRifen & frefofea # @ =9 @ |
FTUTfash (molecular) dehHish T9@ 3T
SR < ST R 2

(1) e

(2) I

(3) o =atfen

(4) shrdmTh

i
I
|
|
|
|
|
(5) e S |
6

14.

15.

The Numbers of rostral teeth on
dorsal and ventral surfaces of an
adult Macrobrachium rosenbergii are :

(1) 14-16 dorsal and 11-14 ventral
(2) 11-14 dorsal and 8-10 ventral
(3) 10-12 dorsal and 5-6 ventral
(4) 8-12 dorsal and 5-6 ventral

(5) Question not attempted

Characters of feather back fish are :

(1) Laterally compressed deep body
with a small slender dorsal fin in
the centre of the back and a
long anal fin.
(2) A ventrally compressed deep
body with a long slender dorsal
fin in the centre of the back and
a small anal fin.
A laterally compressed body
with long dorsal and anal fins
and a wide mouth without
barbles.
A ventrally compressed body
with small dorsal and anal fins
and a small mouth with barbles.
(5) Question not attempted

©)

(4)

Which of the following molecular
techniques is most commonly used
in DNA fingerprinting in fish species
identification ?

(1) ELISA

(2) RAPD

(3) Western blotting

(4) Chromatography

(5) Question not attempted
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17.

18.

19.

A list of orders and characters are

given below :

A. Perciformes (Sub-order-
Mastacembeloidei) have two gill
openings & pectoral fins are
present.

B. Siluriformes have either a naked
or covered body with bony
plates, jaws generally with teeth,
pectoral fin with its outermost
ray modified into an osseous
spine or thick ray.

C. Cypriniformes have scales but
devoid of plates on body & no
teeth on jaws but pectoral fin is
devoid of an osseous spine.

D. Clupiformes have a lateral line
but body is compressed & often
with keeled scutes on abdomen
& also with 1-5 branchiostegal
rays.

Which of these do not follow

taxonomic characters ?

(1) A&B (2) A,B,C&D

(3) Bonly (4) D only

(5) Question not attempted

Name the fish which is known as a
freshwater shark. :

(1) Mystus seenghala

(2) Ompak pabda

(3) Wallago attu

(4) Mystus cavasius

(5) Question not attempted

In which fish stomach is not
differentiated and the intestine is
long and coiled ?

(1) Hypophthalmichthys molitrix
(2) Cyprinus carpio

(3) Ctenopharyngodon Idella
(4) Tilapia mossambicus

(5) Question not attempted
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Frafefaa & @ s ot gt = 93w
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4, AT Hd
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(3) forfimm, v, me rd, e

(4) TR, T, soieh 1, Teremi

(5) Irgia ¥

T qemE § Ug wiE 5 foe wrafies
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(1) #re
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(5) JrgaRa e

= 1 & areTTe % W (wer) Wi Wee
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(1) 7&RIE7a g 3R @faan dgar

(2) 37 Fearg IR Haci Haci

(3) feer H1d 3R e dfaar

(4) @fean D3R Sfaan srer

(5) g S

(2) SR
(4) ==

20.

21.

22.

IMgHIETIIgH The (EPA) 20:5n-3 | 23.

AT SwEREHEE s (DHA)
22:6n-3 fopm Tg it woferl & Wivw o
JTETTH & ?

(1) 3 urht & wed

(2) wft el

(3) ferasft wesett

(4) Srfpar

(5) 3rgaRd I

|
|

!
|
I
!
|
|
|

Which of the following combinations
of species is most suitable for
composite fish culture in India ?

(1) Catla, Rohu, Mrigal, Grass carp,
Silver carp, Common carp

(2) Catla, Tilapia, Pangas, Rohu

(3) Tilapia, Pangas, Grass carp,
Mrigal

(4) Rohu, Mrigal, Black carp, Tilapia

(5) Question not attempted

Primary natural food for rohu fry in
nursery ponds :

(1) Insects (2) Zooplankton
(3) Phytoplankion (4) Algae

(5) Question not attempted

The column feeder fishes among the
followings :

(1) Cirrhinus mrigala and Labeo
rohita

(2) Labeo calbasu and Catla catla
(3) Silver carp and Labeo rohita
(4) Labeo rohita and Labeo bata
(5) Question not attempted

Eicosapentaenoic Acid (EPA)
20:5n-3 and/or DocosaHexaenoic
Acid (DHA) 22:6n-3 are required in
feed of which group of fishes ?

(1) Freshwater fish

(2) Marine fish

(3) Exotic fish

(4) Shelifish

(5) Question not attempted
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& SR G

(1) (A) 3R (R) I @ & 3R (R), (A)
T T HET R |

(2) (A) 3 (R)3RiT= £, W (R), (A)
H o AT TE B |

(3) (A) TR, 7g (R) & § |

4) (A) 3T 8, WG (R) TR |

(5) 3rgaRa v

RD e s e Tasets i T it i3 T Yl s

24,

25.

For the below Assertion and
Reason, choose the correct
alternative :

Assertion (A) : Commonly, there are
20 recognized macro and micro
inorganic elements in fish body.

Reason (R) : Essential functions of
inorganic elements are
metabolism, bone formation,
blood clotting, muscle function,
impulse transmission, energy
transformation, permeability of
cellular membrane, genetic.
coding & control of reproduction
and growth.

Both (A) and (R) are individually

true and (R) is correct

explanation of (A).

Both (A) and (R) are individually

true, but (R) is not correct

explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

(5) Question not attempted

(1)

(2)

Assertion (A) : Mahua oil cake is
used for manuring as well as an
effective agent for eradication of
predatory and weed fishes.

Reason (R) Mahua oil cake
contains Rotenone (about 4-6%)
which is an effective fish poison.

Choose the correct answer :

(1) Both (A) and (R) are true and

(R) is a correct explanation of

(A).

Both (A) and (R) are true, but

(R) is not a correct explanation

of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Question not attempted

(2)

3)
(4)
®)
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26.

27.

28.

29.

The first successful attempt for

induced breeding of Indian Major

carps was made by

(1) Khan, H., 1937

(2) Hiralal Chaudhury and K.H.
Alikunhi, 1957

(3) Ramaswamy and Sunderaraj,
1956

(4) Hiralal Chaudhury and K.H.
Alikunhi, 1955

(5) Question not attempted

“The oocytes increases in size from
immature to mature one. The Yolk
deposition starts and oocyte turns to
primary stage.”

The statements are given for which
developmental stage of ovum ?

(1) Maturation stage

(2) Growth stage

(3) Multiplication stage

(4) First oocyte stage

(5) Question not attempted

The male brooder chases behind the
female as seen in carps, this
spawning behaviour is called —

(1) Hypo-gyne (2) Sub-gyne
(3) Latero-gyne (4) Un-gyne
(5) Question not attempted

Which one of the pairs of anesthetics
and dosage is not correctly matched
for transportation of fish brood stock ?
(1) Novacaine : 50 mg/kg fish

(2) MS 222 :1:20,000

(3) Quinaldine : 1:40,000

(4) Hydroxy quinaldine : 1.0 mg/L
(5) Question not attempted
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30.

31.

32.

33.

34.

Key environmental trigger for -
successful bund breeding of Indian
major carps.

(1) Increase in salinity of water

(2) Cloudy weather

(3) Monsoon rains with strong water
current

(4) High turbidity in water

(5) Question not attempted

Hypophysation technique was first
used in

(1) China (2) USA
(3) Brazil (4) India
(5) Question not attempted

Fishes which deposit eggs in runnihg
water on sand are called as

(1) Lithophils (2) Psammophils
(3) Phytophils  (4) None
(5) Question not attempted

Which one cultivable major carp fish
breed in confined water ?

(1) Catla (2) Rohu
(3) Common carp(4) Mrigal
(5) Question not attempted

A géneral dosage of Ovaprim used -
in induced breeding for females of
Indian major carps

(1) 0.1-0.2 ml/kg body weight
(2) 0.3-0.5 mi/kg body weight
(3) 1.0 ml/kg body weight

(4) 1.5 mi/kg body weight

(5) Question not attempted
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How much % of brood stock are
injected with inducing material in

sympathetic breeding before
releasing in the wet/dry bund ?

(1) 40% (2) 30%

(3) 20% (4) 10%

(5) Question not attempted

During live fish transportation, seed
mortality mainly occurs due to

(1) Starving (2) Over feeding

(3) Excitement (4) Asphyxiation

(5) Question not attempted

Which of the following anaesthetics
is commonly used and approved for
fish sedation in aquaculture ?

(1) Ethanol

(2) MS-222 (Tricaine
methanesulfonate)

(3) Hydrogen Peroxide

(4) Potassium Permanganate

(5) Question not attempted

Which of the following factor is most
critical for the survival of fish seed
during transportation ?

(1) pH of water
(2) Temperature fluctuation

(3) Stocking density and oxygen
level

(4) Salinity of water
(5) Question not attempted
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(5) gaRa I

Before transport anesthetizing /
sedation may or may not effect fish
as follows :

A. Reduces stress, rate of oxygen
consumption / excretion and
excitement, so it reduces injury,
and handling time.

B. Reduces stress, rate of oxygen
consumption / excretion,
excitement and so injury, but
increases revival time.

C. Reduces stress, rate of oxygen
consumption / excretion,
excitement and so injury, and
handling time resulting into
mortality during revival.

D. Reduces stress, rate of oxygen
consumption / excretion,
excitement and so injury, and
handling time along with high
post sedation effects.

Which of these factor/s is/are not

required in anesthetizing / sedation

of fish before transport ?

(1) A, B,C

(2) A, B,D

(3) Aonly

(4) B,C,D

(5) Question not attempted

Diameter of fertilized and swollen
eggs varies with the species of fish.

A. Catla B. Rohu
C. Mrigal D. Calbasu

Select correct egg diameter in
descending order by using the codes
given below:

(1) A,B,C,D (2) A,D,C,B
(3) C,B,D,A (4) A,C,B,D
(5) Question not attempted
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41.

42.

43.

44,

Parameter that indicates the water’s
buffering capacity and resistance to
pH changes

(1) Dissolved oxygen

(2) Hardness

(3) Alkalinity

(4) Ammonia

(5) Question not attempted

During construction of the pond dyke
of a small and large pond, a
minimum free board must be

(1) 0.1mand0.3m

(2) 0.2mand 0.3 m

(3) 0.3mand 0.5 m

(4) 0.5mand1.0m

(5) Question not attempted

A list of some soil textures is given
below :

A. Clay loam

B. Silty clay

C. Sandy clay

D. Silty clay loam

Which of these are suitable for fish
ponds ?

(1) A&D (2) A,B&C

(3) A,B&D (4) A, B,C&D
(5) Question not attempted

Which one of the following structure

is an integral part of pond dyke ?

(1) Monk structure

(2) Sluice gate

(3) Both Monk structure and Sluice
gate

(4) Puddle trench

(5) Question not attempted
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47.

.h

Which of the following is not a
desirable feature in selecting a site
for pond construction ?

(1) Slightly sloped land

(2) Impermeable soil

(3) Shaded area with tall trees

(4) Reliable water source

(5) Question not attempted

What is the acceptable range of
Dissolved Oxygen (DO) for culture of
Indian major carps ?

(1) 0-2 mg/L

(2) 2-4 mg/L

(3) 4-6 mg/L

(4) Above 10 mg/L

(5) Question not attempted

A list of some common water
characteristics is given below :

A. Secchi disc visibility : 40-60 cm
B. H,S:0.01 mg/L

C. Unionized ammonia : 0.02-0.05
mg/L

D. Alkalinity : 75-300 mg/L

Which of these do not suit to fish for

culture in ponds ?

(1) Bonly

(2) Band D

(3) A,BandC

(4) B,Cand D

(5) Question not attempted

It is possible to precipitate extra

phosphorus from pond water by

application of

(1) Alum and Gypsum

(2) Alum, Ferric Chloride, Urea and
Gypsum

(3) Gypsum, Potassium Hydroxide
and Alum

(4) Both (1) & (3) are correct
options.

(5) Question not attempted
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49,

50.

51.

52.

In neutral to acidic waters, which

form of Carbon-dioxide is frequently

found ?

(1) High concentration of carbonate
and bicarbonate ions with low
amount of free CO.,.

High concentration of carbonate,
bicarbonate ions and high level
of free CO,.

Low concentration of carbonate
and bicarbonate ions with high
level of free CO,.

Both (1) and (3) are correct
options.
(5) Question not attempted

(@)
(3)

(4)

How much concentration of
dissolved oxygen has sub-lethal
effects on fish- growth, feed
conversion and disease tolerance ?

(1) <1 mg/L (2) 2mg/L
(3) 5-6 mg/L (4) >6 mg/L
(5) Question not attempted

Levels of available phosphate and

soil nitrogen are highly productive

respectively for a fish pond

(1) 60-120 ppm : 250-500 ppm

(2) 60-120 ppm : more than 500
ppm

(3) More than 120 ppm : more than
500 ppm

(4) More than 120 ppm : 250-500

ppm

(5) Question not attempted

Which one of the following is non-
essential amino acid ?

(1) Leucine (2) Lysine
(3) Alanine (4) Threonine
(5) Question not attempted
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53.

54.

55.

56.

Pearson square method is used for :
(1) feeding the fishes

(2) drying the feed

(3) formulation of the fish feed

(4) selecting the fishes

(5) Question not attempted

What will be the per day feed
requirement in a fish pond ? If it is
stocked with 6000 fishes having
average body weight of 0.6 kg, the
survival rate is 80%, feeding rate is
3% of body weight and the target
production is 6000 kg/ha ?

(1) 72.6 kg (2) 108 kg
(3) 86.4 kg (4) 180 kg
(5) Question not attempted

A list of fatty acids is given below :

. 18:2 n-6 (linoleic) acid

Il. Eicosapentaenoic acid 20: 5n-3
l1l. 18:3 n-3 (linolenic) acid

IV. Docosahexaenoic acid 22: 6n-3

Which of these fatty acid can not be
synthesized and in general required
by freshwater fish ? Select from
above list as choices given below :

(1) lonly (2) land Il
3) &IV (4) IV only
(5) Question not attempted

A list of vitamins is given below :

I.  Thiamine Il. Vit. A
lll. Riboflavin IV. Niacin
Choose water soluble vitamins.
(1) Il only (2) lonly
3) L&V 4) 1&ll

(5) Question not attempted
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57.

58.

59.

Match List-l with List-ll and select
the correct answer by using the
codes given below the lists :

List-I List-Il
Abdominal dropsy 1. Aeromonas
in carps is caused by salmonicida
Furunculosis in 2. Ichthyoph-
Salmon and Trout thirius
is caused by multifilis
White spot disease 3. Aeromonas
is caused by punctata
Water mold disease 4. Saprolegnia
is caused by and Achlya
Codes :

A B €D
(1) 2 Vo8 =3
(2) 3 1.2 4

(3) 1 R Ry
“4) 1 2= 43

(5) Question not attempted

Which one of the following parasite
is not a crustacean copepod ?

(1) Argulus (2) Lernaea

(3) Salmincola (4) Camallanus
(5) Question not attempted

The fish larval growth is affected to
cause lesions in central and
peripheral nerves due to

(1) Vitamin C deficiency

(2) Pantothenic acid deficiency

(3) Vitamin A imbalance

(4) Pyridoxine deficiency

(5) Question not attempted

Egtved disease is also called as

(1) Infectious pancreatic necrosis
(2) Viral haemorrhagic septicaemia
(3) Infectious haemopoietic necrosis
(4) Infectious dropsy

(5) Question not attempted
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61.

62.

63.

In freshwater fish, cotton mouth
disease is caused due to

(1) Myxobacteria

(2) Mycobacteria

(3) Flexibacteria

(4) Chondrococcus

(5) Question not attempted

Which of the following gear is
commonly used in deep waters
inland reservoirs ?

(1) Gill net (2) Drag net
(3) Trawl net (4) Traps
(5) Question not attempted

In Rajasthan ‘closed season’ is

observed during

(1) 15" April to 30t August
(2) 16" May to 30" July

(3) 15" June to 30t August
(4) 16" June to 315t August
(5) Question not attempted

Which of the following comes under
medium reservoir ?

(1) <500 hac.

(2) <1000 hac.

(3) > 1000 to 5000 hac.
(4) > 5000 hac.

(5) Question not attempted

Match the following reservoirs with
the state :

i. Alliyar a. Kerala

ii. Meenakara b. Uttar Pradesh
iii. Gulariya _¢. Rajasthan

iv. Bund Baretha d. Tamilnadu
(1) i-(a), ii-(b), iii-(c), iv-(d)

(2) i-(b), ii-(c), iii-(d), iv-(a)

(3) i-(d), ii-(a), iii-(b), iv-(c)

(4) i-(b), ii-(d), iii-(a), iv-(c)

(5) Question not attempted
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66. Assertion (A) : Small reservoirs are

biologically more productive per
unit area.

Reason (R) : It has low predation
pressure and breeding of
commercially important species
mostly occur within reservoir.

Choose the correct option :

(1) Assertion (A) and Reason (R)
are individually true and Reason
(R) is the correct explanation of
Assertion (A).

(2) Assertion (A) and Reason (R)
are individually true, but Reason
(R) is not the correct explanation
of Assertion (A).

(3) Assertion (A) is true, but Reason
(R) is false.

(4) Assertion (A) is false, but
Reason (R) is true.

(5) Question not attempted

Which one of the following is known
as Dragon Fish ?

(1) Arowana (2) Pangas
(3) Glow fish (4) Parrot fish
(5) Question not attempted

The fish which is helpful for cleaning
algae from aquarium wall

(1) Pangasionodon hypophthalmus
(2) Hypostomus plecostomus
(3) Corydoras
(4) Aspidoras
(5) Question not attempted
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70.

71.

2.

Match the following optimum water
quality parameters with  their
respective values for ornamental fish :

i. Total hardness A.<50 mg/L

ii. Total B. 100-200 mg/L
suspended
solids

iii. Carbon dioxide C.50-300 mg/L
iv. Total alkalinity D.< 15 mg/L
(1) i-C, ii-B, iii-A, iv-D

(2) i-D, ii-B, iii-C, iv-A

(3) i-A, ii-B, iii-C, iv-D

(4) i-B, ii-A, iii-D, iv-C

(5) Question not attempted

Scientific name of Japanese dwarf
rush, an aquarium plant

(1) Bacopa monnieri

(2) Acorus gramineus

(3) Cabomba aquatica

(4) Egeria densa

(5) Question not attempted

Among the following fishes, which
fish is ovo-viviparous ?

(1) Gold fish

(2) Zebra danio

(3) Swordtail

(4) Glowlight rasbora

(5) Question not attempted

Which of the following statement is

correct ?

(1) Cerratophyllum is an emergent
weed.

(2) Utricularia is a free floating
submerged weed.

(3) Typhais a floating weed.

(4) Anabaena is a filamentous
weed.

(5) Question not attempted
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747

~ For the control of blue green algae

which chemical is used in fish ponds ?
(1) Simazine

(2) 2-4-D

(3) Sodium Arsenite

(4) Endothal

(5) Question not attempted

Which is a predatory fish ?
(1) Gadusia chapra

(2) Osteobrama cotio

(3) Channa gachua

(4) Puntius ticto

(5) Question not attempted

In which fish “the number of
undivided dorsal fin rays are more
than eleven ?

(1) Puntius sarana

(2) Cirrhinus reba

(3) Labeo bata

(4) Labeo calbasu

(5) Question not attempted

Which predatory insect is known as
‘water spider’ ?

(1) Ranatra

(2) Notonecta

(3) Cybister larva

(4) Gerris

(5) Question not attempted

How much is the Saponin (mowrin)
content in mohua oil-cake ?

(1) 2to 4% (2) 4t0 6%
(3) 6to8% (4) 8to 10%
(5) Question not attempted

00
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78. What is a key advantage of nylon

fishing nets over natural fiber nets ?

(1) Biodegradability

(2) Low strength

(3) Very high breaking strength and
high abrasion resistance

(4) Heavy weight

(5) Question not attempted

The permissible minimum size of gill
net used in A and B class water
bodies mentioned under Rajasthan
Fisheries Rules, 1958 is —

(1) 1.5" knot to knot

(2) 1.0" knot to knot

(3) 4" mesh size

(4) Both (2) and (3) are right.
(5) Question not attempted

Which falling géar is used in Inland
Fishing ?

(1) Trawl net (2) Bag net

(3) Cast net ' (4) Seine net

(5) Question not attempted

Which of the following method is
used for mounting of a netting on a
rope ?

A. Reeving and Stapling

B. Stapling and Sewing

C. Hitching and Seaming

D. Marling and Norselling

Choose the correct option :

(1) Aand B (2) BandC

(3) Aand D (4) Band D

(5) Question not attempted
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(4) Central

served in Retort Pouch. Which of the
following statement is true in this
case ?

A. It contains double ply Iéminated
material.

B. The pouch is formed of
polyester / aluminium / cast
polypropylene which makes the
product invisible.

C. Rohu & Prawn curry and fish
sausage are packed in such
pouches.

Choose the correct option :
(1) A and B are true.
(2) Band C are true.
(3) A and C are true.
(4) AllA, B and C are true.
(5) Question not attempted

Which institute of the following has

developed surgical sutures in India

for the first time from fish gut

collagen ?

(1) Central Institute of Fresh Water
Aquaculture

(2) Central Marine
Research Institute

(3) Central Institute of Brackish
Water Aquaculture

Institute of Fisheries
Technology

(5) Question not attempted

Fisheries

To achieve a shelf life of one year for
frozen shrimp or lean fish, the
recommended storage temperature
must be —

(1) —44°C (2) —34°C
(3) —24°C - (4) —14°C
(5) Question not attempted
00
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Assertion (A) : CIFT has developed
MAP Technique for chilling
storage of Catla catla fillets with
CO, at 40-80%.

Reason (R) : MAP chilled fish has an
extended shelf life of 10 days or
more.

Choose the correct option :

(1) Both (A) and (R) are individually
true and (R) is the correct
explanation of (A).

(2) Both (A) and (R) are individually

true, but (R) is not the correct
explanation of (A).

(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
(5) Question not attempted

The maximum priced smoked fish in
India is .
(1) Marinades (2) Masmin
(3) Fish sausage (4) Surimi
(5) Question not attempted

In India cage fish culture was first
attempted at

(1) Allahabad (2) Bhubaneshwar
(3) Cuttack (4) Mumbai
(5) Question not attempted

In bioflock aquaculture system,
desirable Carbon : Nitrogen ratio

(1)=10:1 (2) 5:10
(3) 1055 4) 1:10
(5) Question not attempted
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Most important activities to sustain

good water quality in RAS system

are

A. Biofiltration to remove ammonia
and solid waste.

B. Aeration and
water.

C. Reducing pH by use of lime.

D. Intensive culture and high
feeding rate.

Choose the correct option :

(1) A and B are correct.

(2) B.and C are correct.

(3) B, C and D are correct.

(4) A, B and C are correct.

(5) Question not attempted

recirculation of

For production of 3000-4000 kg
fish/year and 4000-6000 eggs/year,
how many Khaki Campbell ducks
are recommended to rear for 1 ha.

pond in duck-cum-fish culture
system ?

(1) 50-100 (2) 200-300

(3) 400-600 (4) 600-700

(5) Question not attempted

On dry weight basis the protein and
fat content of fish feed in bioflock are
in the range of -

(1) 10-15% protein and 0.5-1.5% fat
(2) 25-50% protein and 0.5-15% fat
(3) 20-25% protein and 5-10% fat
(4) 30-40% protein and 1.0-2.0% fat
(5) Question not attempted

The Ministry of Fisheries, Animal

Husbandry and Dairying was
established by the Union
Government in which year ?
(1) 2005 (2) 2014
(3) 2009 (4) 2019
(5) Question not attempted
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95.
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The headquarters of Coastal
Aquaculture Authority is located in
(1) Chennai

(2) Hyderabad

(3) New Delhni

(4) Bhubaneshwar
(5) Question not attempted

The founder Chief Executive of
National  Fisheries Development
Board was

(1) Bijay Kumar Behera
(2) Dr. Subhana Ayyappan
(3) Dr. C. Suuvarna

(4) Dr. P. Krishnaiah

(5) Question not attempted

The Marine Product Export
Development Authority was set up in
which year ?

(1) 1970 (2) 1972

(3) 1975 (4) 1978

(5) Question not attempted

Ornamental Fish Breeding Unit and
Aquarium was established at which
Reservoir in Rajasthan ?

(1) Rana Pratap Sagar

(2) Mahi Dam

(3) Gambhiri Dam

(4) Bisalpur Dam

(5) Question not attempted

In India per capita fish consumption
is targeted to which level by
2024-257

(1) 7 kg/person/year

(2) 9 kg/person/year

(3) 12 kg/person/year

(4) 15 kg/person/year

(5) Question not attempted
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Assertion  (A) NFDB was
established with an aim to
enhance fish production, export
and employment in- Fisheries
sector.

Reason (R) : It has a major objective
to design leasing policy of water
resources of the State and

- Union Territory and
Conservation of Fisheries .
Resources.

Choose the correct option :

(1) Assertion (A) and Reason (R)

are true and Reason (R) is

correct explanation of Assertion

(A).

Assertion (A) and Reason (R)

are true, but Reason (R) is not a

correct explanation of Assertion

(A).

(3) Assertion (A) is true, but Reason
(R) is false.

(4) Assertion (A) is false,
Reason (R) is true.

(5) Question not attempted

()

but

Water Bodies of Rajasthan are
divided into four categories for
fishing purpose on the basis of —

(1) Area

(2) Revenue

(3) Production

(4) Productivity

(5) Question not attempted

NIFPHATT is working under the
Department of Fisheries, Ministry of
Agriculture and Farmer's Welfare. Its
headquarters is located at :

(1) Mumbai (MH)

(2) Vishakhapatnam (AP)
(3) Kolkata (WB)

(4) Cochin (Kerala)

(5) Question not attempted
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101.

102.

- (1) Clause 2

103.

104.

The Pradhan Mantri Matsya
Sampada Yojana 2020 has targeted
to increase aquaculture productivity
in next five years to

(1) 9tonne/ha (2) 7 tonne/ha
(3) 5tonne/ha  (4) 4 tonne/ha
(5) Question not attempted

The Environment (Protection) Act,
1986 well defines the aquatic
environment and prohibits use of
hazardous substances in open
waters and it also support which of
the following clause of Rajasthan
Fisheries Act, 1953 ?

(2) Clause 3 & 4
(3) Clause 5 (4) Clause 12
(5) Question not attempted

The Rule No. 10(4)(iii) of Rajasthan
Fisheries Rules, 1958 defines which
one of the following activity ?

(1) The angling license is issued
under this rule.

(2). The licensees are allowed to
conduct fishing in leased water.

(3) The licensee shall maintain
regular account of each and
every catch.

(4) The licensee shall release back
if any of the Tor mahaseer is
accidently caught by him.

(5) ‘Question not attempted

What size of fish : Catla, Rohu,
Mrigal, Mahaseer, Silver carp and
Grass carp are prohibited to be
caught under Rajasthan Fisheries
Rules ?

(1) 200 gm (2) 500 gm

(3) 700 gm (4) 900 gm

(5) Question not attempted
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106.

107.

108.

109.

How many minimum bits are
required to represent 53 in decimal
number system to binary number
system ?

(1) 3 (2) 4

(3) 5 (4) 6

(5) Question not attempted

Which of the following is not an
output device ?

(1) Printer (2) Digitizer
(3) Monitor (4) Plotter
(5) Question not attempted

Which of the following command is
used to display more detailed
information of the system in Ubuntu ?

(1) uname-a (2) uname-k
(3) uname-z (4) kernel
(5) Question not attempted

In Linux operating system, “Is”

command is used to

(1) Display the current working
directory.

(2) Display information about files in
the current working directory.

(3) Navigate between different
folders.

(4) Get basic information about the
Os.

(5) Question not attempted

What is the correct sequence of
HTML tags to design a webpage"
from the following ?

(1) <html>, <title>, <body>, <head>
(2) <html>, <head>, <title>, <body>
(3) <head>, <title>, <body>, <htmI>
(4) <head>, <html>, <title>, <body>
(5) Question not attempted

00



110.

111.

112.

113.

114.

115.

00

URL 1 0 98 HIT R ?

(1) I Wwid fo

(2) ghasa Tesfen e

(3) I fE diehet

(4) Freeet ferd o

(5) IrgaRa s

Frafafea 3 @ #5991 @ 1 C IEH
Tl g 7 T8 x, 0§ 255 & o9 #15 st
T F T § |

(1) 190.x.x.x (2) 195.x.x.x

(3) 100.x.x.x (4) 10.x.x.x

(5) I S _

ATEhEIRE Ufataise 2019 HIge ! HgoH
(9 %) & o = & & B a1 o 9y
TFEHIA & ?

(1) .odp (2) .odt

(3) .ppx ~ (4) .dot

(5) IrgaRa s

AEHIER AT 98 2019 # I 8%
o % e widwe 7 g 7

(1) Ctrl 37X Enter

(2) Ctrl 3R +

(3) Ctrl 3t -

(4) Ctrl 3R Shift

(5) 3T S

T § e % fafidem frafafea § |
3 foped Faftra 2 7 |
(1) 7% 2) shaamen |
@) fofegm  (4) Ay |
(5) TR T I
sgfeRiTa S § wifia difers Ve grd |
(SSD) 2 T : |
(1) s A (2) wemEs aad |
(3) w1 Ay 4) T |
(5) FrERE ¥ |

110.

111.

112.

113.

114.

What is the full form of URL ?
(1) Uniform Reference Link

(2) Universal Routing Language
(3) Uniform Resource Locator
(4) Universal Resource Line

(5) Question not attempted

Which of the following is a class C IP
address ? Here x can be any
number between 0 to 255.

(1) 190.x.x.x (2) 195.x.x.x

(3) 100.x.x.x (4) 10.x.x.x

(5) Question not attempted

Which of the following is a valid
extension to save a Microsoft
PowerPoint 2019 file ?

(1) .odp (2) .odt

(3) .ppx (4) .dot

(5) Question not attempted

What is the shortcut to insert page
break in Microsoft Office Word 2019 ?
(1) Ctrl with Enter

(2) Ctrl with +

(3) Ctrl with —

(4) Ctrl with Shift

(5) Question not attempted

The specification of lumens in the
projector is related to which of the
following ?

(1) Brightness

(2) Screen size

(3) Resolution

(4) Projection distance

(5) Question not attempted

. Solid State Drive (SSD).installed in a

personal computer is a :

(1) Primary Memory

(2) Auxiliary Memory

(3) Cache Memory

(4) Register

(5) Question not attempted



116.

117.

118.

119.

e AP Toasl 2007 # &

(TIEE) AT HT AT ILFA BT R 7

(1) < I3 H1 S HET

(2) @ = B\ H aEa At g
ST

(3) & "Al B TG HE, T
T SHRL | TR S Teh

(4) TEATCHS THI ! SRS TTET A ST

(5) IR T

30§ “CC” HIvs 1 I 8 7
(1) 39« it w wfa e sTeeata
= AT

(2) 35 w1 o gfva s
(3) T 3r¢THE YGH HET

(4) 39 ) ATEE BT F ST
(5) rFaa S

Frafefea & @ i & dea e e
%LAN)H%HH@WW%MHW
?

(1) T 32T I T v Wi &3+
A HAT B, T8 Teh T |

(2) T e S T € TRa N W,
;mimmam@ﬁ%%ﬂmmw

| 2

(3) T 2k formem ST %3 wEd 5
e o fore fepan s @ |

(4) TH AT St ATaH TR W ITHWI
SIS 2 |

(5) Jgafa w7

HTML & <img> e gwr s ¢ | 119

(1) Tereft oft 2o ) Tftpere & &ger T |

(2) HTML ®i5a § €9 389 =1 &R
<A |

(3) HIe AT AT T BISS I1 1 FA
X IERIT HET |

(4) 9 5 ) gl wrEht w5 § wRaa
(align) =T |

(5) Irgaia S
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116. What is the purpose of the &

117.

118.

(ampersand) operator in Microsoft

Office Excel 2007 ?

(1) Performs summation of two
numbers

(2) Compares two text strings for
equality

(3) Concatenates, two values into
one continuous text value

(4) Converts numeric values into
text format

(5) Question not attempted

What is the purpose of the “CC” field

in an email ?

(1) To send a copy of the email to
additional recipients ‘

(2) To indicate the subject of the email

(3) To provide an attachment

(4) To send the email in blind copy

(5) Question not attempted

Which of the following most

accurately defines a Local Area

Network (LAN) ?

(1) A network that covers a large
geographical area, such as a city

(2) A network that operates within a
single building like a home,
office or factory

(3) A network used to connect
multiple cities

(4) A network that connects devices
over a global scale

(5) Question not attempted

What is the primary purpose of the

<img> tag in HTML ?

(1) To convert any text into graphics.

(2) To store images directly within
the HTML file.

(3) To display photos or graphics
using a file path.

(4) To align all the content on a web
page centrally.

(5) Question not attempted
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120. fr=fefea & @ form T/fona oot & Tee

121.

122.

123.

TA9E’ o ATH &1 Ioorg e 7

A. TR FwE

B. WEMRd

C. wg HfEa
HETEIREE D

(1) et A 2) 3B
(3) A3RB (4) A,B3RC
(5) T S

TR % ITRIRIFR & T R TEON H1
3 fopaen ug ferm o 2

(1) friw @t (2) gonfeg &t
(3) =@t (4) FAgEH
(5) IR FeH

YA % IG 7 A TS TR SEa
g =t STt T T 7

(1) o< TS, TSI TSt

(2) g™ i e, o g Reefean
(3) ITTEHTUT, TRY T

(4) =im @i, saftg

(5) I e

fersiferan fepam snle =t wia + ¥
fafew R g nfda ‘s= vl wfufer” &
fedasmadion ?

(1) ek gictvs
(2) AR G
(3) T =
(4) ferrieme
(5) igRa s
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120. In which of the following text/s the

121.

122.

123.

name of
mentioned ?

A. Anguttara Nikaya

B. Mahabharat

C. Manu Samhita

Choose the correct code :
(1) Only A

(2) Only B

(3) Aand B

(4) A,BandC

(5) Question not attempted

‘Matsya Janpad' is

Maharana Kumbha favoured to
whom on the question of Succession
of Nagaur ?

(1) FirozKhan (2) Mujahid Khan
(3) Shams Khan (4) Qutbuddin
(5) Question not attempted

Who brought out injured Maharaja
Jaswant Singh from the battle field of
Dharmat ?

(1) Mukund Hada, Raj Singh
Rathore

(2) Dayal Singh Jhala, Sujan Singh
Sisodia

(3) Aaskaran, Mahesh Das

(4) Qasim Khan, Jai Singh
(5) Question not attempted

Who among the following was not a
part of the high level committee
formed by the British Government
to check the Bijolia Peasant
Movement ?

(1) Robert Holland

(2) Narayan Patel

(3) Prabhash Chandra

(4) Biharilal

(5) Question not attempted



124.

125.

126.

127.

TR Mels gfed % g @ @ @
TS TS SR 1 &fie 3T & 7

(1) 3% fierr § o faeg g 6t
e et o |

(2) ¥ 39 uTiETiies SR A S IR |

(3) SHFR ST § ST AN 6
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(1) YT e, ey
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(3) wHf¥E, SR
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(5) Irguid we
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(1) sQTE B
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(3) gTEd =
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|
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124. Why did Maharaja Ganga Singh

125.

126.

127.

return to India before the conclusion

of the Second Round Table

Conference ?

(1) He had received information
about a rebellion against him in
Bikaner.

(2) He had returned due to his
family reasons.

(3) Due to the exposure of
dissatisfaction prevailing among
the people of Bikaner through
pamphlets.

(4) Due to publication of atrocities of
Bikaner government in
newspapers.

(5) Question not attempted

Who among the following founded
Hadauti Prajamandal ?

(1) Harinarayan Sharma

(2) Pandit Nayanuram Sharma
(3) Thakur Deshraj

(4) Trilokchand Mathur

(5) Question not attempted

Who opposed the inauguration
programme of ‘Matsya Sangh’ ?

(1) Jugal Kishore, Bholanath

(2) Gopal Yadav, Mangal Singh
(3) Man Singh, Deshraj

(4) Giriraj Sharan Singh, Chiranijilal
(5) Question not attempted

Which monument among the

following is not located at Tonk ?
(1) Eidgah Kothi

(2) Kali Pahadi Kothi

(3)  Sunhari Kothi

(4) Noor Haq Masijid

(5) Question not attempted
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128.
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131.

132.

133.

00
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35

128.

129.

130.

131.

132.

133.

' (3) Nimbark

Which painter has painted the
murals in the Sheesh Mahal of
Rajgarh Fort near Alwar ?

(1) Daluram (2) Shivkumar
(3) Baldev (4) Jamunadas
(5) Question not attempted

What are Bhungal, Bargu ?

(1) Ghudla dance

(2) Female characters of ‘Gavri’
dance

(3) Musical instruments

(4) Games, played with ball

(5) Question not attempted

Who among the following is not
related to the Rammat folk drama ?

(1) Maniram Vyas (2) Sohan Lal
(3) Tulsi Ram (4) TejKavi
(5) Question not attempted

On the occasion of Holi, which of the
following dance is performed by the
tribal Bhil males ?

(1) Kotya (2) Bunda

(3) Gosai (4) Bansiya

(5) Question not attempted

Which Peeth of Vaishnava Sect is
located in Salemabad in Rajasthan ?
(1) Ramanandi (2) Vallabh

(4) Gaudiya

(5) Question not attempted

The Vagadi dialect is primarily
spoken in which districts of
Rajasthan among the following ?

(1) Banswara and Chittorgarh

(2) Dungarpur and Banswara

(3) Dungarpur and Sirohi

(4) Banswara and Sirohi

(5) Question not attempted

o



134. Fr=fefea 8 & /e Iw %1 99 HifT
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134.

135.

136.

Choose incorrect pair among
following :

Book/Text Author
(1) Galaleng Keshavdas

(2) Kehar Prakash Bakhtawar Singh
(3) Gajguna Rupak Shivdas

(4) Dingal Kosh Muraridan

(5) Question not attempted

Select the correct descending order

of the following Aravalli Peaks

according to their height :

(1) Leelagarh — Rishikesh -
Sajjangarh — Kumbhalgarh

(2) Kumbhalgarh — Rishikesh -
Sajjangarh — Leelagarh

(3) Kumbhalgarh — Sajjangarh —
Leelagarh — Rishikesh

(4) Rishikesh — Kumbhalgarh —
Sajjangarh — Leelagarh

(5) Question not attempted

Which one of the following is not
correctly matched ?

Main River  Tributary
(1) Luni — Sagi
(2) Banas -  Mansi
(3) Manhi —  Moren
(4) Sabarmati — Chap

(5) Question not attempted

. Which district group falls under III-B

agro-climatic region in Rajasthan ?
(1) Alwar, Bharatpur, Dholpur

(2) Ajmer, Jaipur, Nagaur

(3) Kota, Baran, Jhalawar

(4) Udaipur, Dungarpur, Banswara
(5) Question not attempted

Grey Brown Alluvial Soil is found in
(1) Jodhpur and Bikaner

(2) Udaipur and Rajsamand

(3) Bhilwara and Chittorgarh

(4) Jalore and Pali

(5) Question not attempted
00
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139.

140.

141.

142.

143.

In which of the following district
Shisham Tree is found prominently ?
(1) Jhalawar

(2) Chittorgarh

(3) Sikar

(4) Ganganagar

(5) Question not attempted

According to 2011 Census, Rajasthan
has total number of districts having
population more than 25 lakhs are

(1) Eight (2) Four

(3) Nine (4) Ten

(5) Question not attempted

As per Census-2011, the number of
female ' population was least in
Rajasthan in which of the following
districts ?

(1) Pratapgarh (2) Bundi

(3) Jaisalmer (4) Dholpur

(5) Question not attempted

Under which Act was the Rajasthan
State Pollution Control Board
(RSPCB) originally constituted ?

(1) Air-(Prevention and Control of
Pollution) Act, 1981

Water (Prevention and Control
of Pollution) Act, 1974
Environment Protection
1986

(4) Water Cess Act, 1977

(5) Question not attempted

(2)

(3) Act,

The first canal based Solar Power
Plant of Rajasthan was built at :
(1) Dhunia (2) Harkasar
(3) Par KiDhani (4) Mainawali

(5) Question not attempted
: o
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144.

145.

Consider the following statements
and select the correct answer using

code given below :

A. Sikar district have

deposits.

B. Barmer, Bikaner and Sawai
Madhopur districts have
Bentonite deposits.

Rajmahal (Tonk) and Sarwad
(Ajmer) are the main mining
centres of Emerald.

Codes :

(1) AandB

(2) A,BandC

(3) BandC

(4) AandC

(5) Question not attempted

Pyrite

Which of the following is not
correctly matched ?

(1) Rajasthan -
Cooperative
Spinning &

Weaving Mill Ltd.
Reliance -
Comotex

The Mewar -
Sugar Mills

Worsted -
Spinning Mills
Question not attempted

Gulabpura

(2)
@)
(4)
()

Udaipur
Rajsamand

Churu

. According to the Periodic Labour

Force Survey (PLFS) for July 2023 —
June 2024, the unemployment rate
of female in Rajasthan was :

(1) 4.7 percent
(2) 4.5 percent
(3) 4.9 percent
(4) 3.2 percent

1
j
|
{

(5) Question not attempted |
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149.
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147. At which of the following place

148.

149.

150.

RIICO has established a Agro Food
Park ?

(1) Boranada (Jodhpur)
(2) Kishangarh (Ajmer)
(3) Deeg

(4) Hindoli (Bundi)

(5) Question not attempted

The major crops of Rabi season in
Humid South-Eastern Plain Agro-
Climatic Region of Rajasthan are :

(1) Sorghum and Soyabean
(2) Sorghum and Blackgram
(3) Wheat and Maize

(4) Wheat and Mustard

(5) Question not attempted

The core activities of Rajasthan

Forestry and Biodiversity
Development Project are :

A. Afforestation

B. Biodiversity and Wildlife

Conservation
C. Livelihood Improvement

Select the correct answer using
codes given below :

Codes :

(1) ABandC (2) OnlyAandB
(3) OnlyAandC (4) OnlyBandC
(5) Question not attempted

The construction of Dr. Ambedkar
Auditorium was announced in which
city by Chief Minister of Rajasthan in
April 2025 ?

(1) Sikar (2) Churu

(3) Didwana (4) Nagaur

(5) Question not attempted
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